6.4 Warmup

Prove the following identities. State any restrictions on the variables.

1. sec X (sec X — cos X) = tan® X

2. 1 COoS X
- - — = tan x
sin Xxcosx  sin x




6.4 Solving Trigonometric Equations Using ldentities

Solving some trigonometric equations may require making substitutions using trigonometric identities to
try and write the equation so that there is only one trigonometric function being used.

Solve the following equations algebraically over the specified domain.

1. cosx+sin2x=0 0<x<2r
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3. sin? x=7tan Xcosx  0<x<360°
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4. COS2X=-CO0SX Solve over the reals
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5. sinx=+/3cosX Solve over the reals
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6. 3cosx—2=>5secx Solve over the reals
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